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Paid users : Free users

                         690 160 : 8 120 031

                                    1 : 11,7654…

                                  1 : 11

1.1.5   Determine, as a unit ratio, in the form 1 : …, the number 
of paid users to the number of free users during session A.    (3)

• Given discrete data (no. of users) should the ratio be rounded off 

– and if so, rounded up or down?

• Isn’t this question a Level 2 question – when the whole of 

Question 1 should be Level 1 questions only?



Q 1.1
Q 1.2

• The fact that learners would need to calculate 

the range between Session A and C could be 

challenging

1.1.4 Calculate the increase in the number of 

songs streamed over the 3 sessions.          (2)

• The word ‘acronym’ could be unfamiliar for 2nd language 

learners.

• 2nd language learners may be more familiar with 

‘abbreviation’

1.2.1 Give the acronym for value-added tax.  (2)



Same service fee (of R110 excl. 15% VAT in 2022)

= R110  1,15

= R95,65

Service fee (incl. 14% VAT in 2017)

= R95,65 x 1,14

= R109,04

2.1.4   The fixed monthly service fee of R110,00 on 30/11/2022 includes 
VAT of 15%.

The same service fee, excluding VAT, was charged on 30/11/2017.

Determine the service fee amount, including VAT, that would have 
been paid on 30/11/2017. (5)

• Reverse VAT calculation will be a 

challenge for lots of learners

• The dates and link to the 14% vs 15% 

VAT will confuse many learners



2.3.3   Give a reason why the amount (9 099) is shown in brackets. (2)

(9 099) in brackets indicates a deficit/loss, i.e. 

Expenditure > Income to the value of R9 099 000

Loss  = Expenditure – Income (in thousands)

           = R322 891 – R313 792

           = R9 099 

Q 2.3.4

• It will be difficult for some learners to firstly understand 

how the 3 separate tables (income, expenditure & net 

surplus/deficit) all relate to each other; and then to extract 

the required information for the specific question

• A lot of information to unpack and interpret in one question 



Q 2.2 Q 2.3

• Many teachers enjoyed the fact that the learners were asked to 

work with the first tax bracket of ‘18% of taxable income’ – as 

they don’t often ask that

2.2.1 Identify which income tax bracket will be used to calculate 

David’s annual tax.                     (3)

2.2.2 David claims that he should NOT be paying any income 

tax. Verify, showing ALL calculations, whether his claim 

is valid. (6)

• The tax calculation results in a negative answer (i.e. SARS owes 

him money) – which would have confused many learners.

• Many teachers thought that the tax threshold should be given, 

so that the learners could make more sense of the question

2.3.5 The actual total expenditure (Y) 

shows a net surplus amount of 2,53% 

of the total income. Show, by means 

of calculations, that the table value of 

the actual amount for the total 

expenditure (Z) to the nearest whole 

number is R309 547. (4)

• Complex language usage (e.g. ‘over-

budgeted’ and ‘adjusted budgeted’) in this 

question – especially for 2nd language 

learners

• Learners could be confused as to whether 

they should report their answers in 

thousands or not

• The wording could be very confusing as 

the question refers to ‘The actual total 

expenditure (Y)…’; when ‘Y’ is represented 

as the ‘Actual Amount’ in the ‘Net 

Surplus/Deficit’ table



3.1.3   Compare and comment on the urban and rural descriptors of the 
two age groups. (3)

• Urban & Rural: 5 – 17 years old are more overweight/obese than the 

under 5 year olds (20,1% vs 13,2% and 16,3% vs 13,5% respectively)

• 5 – 17 years olds: Urban descriptor is 3,8% higher than the rural 

descriptor (20,1% – 16,3%) 

• Urban: Difference between under 5 year olds and the 5 – 17 year 

olds is 6,9% (20,1% - 13,2%)

• Rural: Difference between under 5 year olds and the 5 – 17 year 

olds is 2,8% (16,3% - 13,5%)

• How many comments are needed for this question?

• How would you allocate the marks, since it is a 3 mark

question?



3.1.4   In a rural school, there are 795 learners in the age group 
5 to 17 years old. 

Calculate the number of learners who are NOT overweight 
or obese. (3)

Rural 5 – 17 year olds: % NOT overweight 

= 100% - 16,3 %

= 83,7%

Number of rural, NOT overweight 5 – 17 years olds

= 
83,7
100

x 795

= 665,415

 665 learners

• Learners need to understand that ‘NOT = 100% - actual’



3.1.5   Determine the probability, as a fraction, of randomly selecting a 
female who is under 5 years old and not overweight or obese.     (3)

% Female under 5 years & NOT overweight 

= 100% - 11,1%

= 88,9%

Probability (expressed as a fraction) 

= 
88,9
100

= 
889

1 000

• Again, learners need to understand that 

‘NOT = 100% - actual’



Adapted from www.pampers.com/en-us/baby/health/article

3.2.2   Identify the month(s) in which the boy was below the 
50th percentile. (2)

50

Month(s) < 50th percentile: 

1- 8 months & 18 – 24 months 

• Growth chart is too small – especially for special needs learners

• The intervals on the growth chart were not clearly aligned with the 

bars

• It wasn’t clear to identify the months or time periods required – so 

more points could have been plotted on the graph

• If learners needed to report the growth periods or more than 1 month, 

then the mark allocation of 2 marks seems too little?

http://www.pampers.com/en-us/baby/health/article


3.3.1   Write down the percentage of malnourished children with a head 
circumference below the 33,5 percentile.  (2)

Malnourished children HCP < 33,5 percentile = 75% (Q3)

OR

75% of 9,15%?

• The ‘9,15% were malnourished’ is a confusing and unnecessary 

piece of information

• Note the sample size was quite small to extrapolate general 

information about a population



3.3.2   Calculate the number of children that were below the median 
head circumference in the children with normal nutritional status. (3)

Number of children < median HC with normal nutritional status

= 
50

100
x 129

= 64,5

 64 children

• Discrete data is given, so do we round up or down for the 

number of children?

• Combining head circumference percentiles with percentages 

of box-and-whisker plots is very confusing i.e. Q2 = 50% but 

the HCP at Q2 = 54th percentile



3.3.3   Comment on the selection of the sample of children selected.      (2)

Sample is not representative of every age group. 

OR

Sample is skewed – as 50% of data represents 1 – 8 months 

while the other 50% represents 9 months – 2 years. 

• How much information is needed when commenting on this 

question?



Q 3.1 Q 3.2
Q 3.3

• Question 3, as a whole, was ‘heavy’ with 3 graphics that needed interpretation and a thorough understanding to 

answer the questions

• There were elements of confusion and unnecessary information 

• Learners would have spent a lot of time on this question

• 2nd language learners may have battled to express themselves adequately when dealing with these difficult concepts 



4.1.1   Write down the modal in-store price for P&P store. (2)

Modal in-store price for P&P store: None

• There was no mode – was this an error?

• Learners may have wasted time re-checking and 

re-checking to find a mode



Adapted from www.eatout.co.za

4.2.2   The total cost for buying and re-packaging 50 packets of 
doughnuts is R701,00.

Determine, with calculations, from which store they 
bought the doughnuts.    (6)

Total no. of doughnuts = 4 x 50 packets = 200 doughnuts

Total cost = Variable costs + Fixed costs

R701 = (No. of doughnuts x Cost per doughnut) + R201

R500 = 200 x Cost per doughnut

 Cost per doughnut = R500  200

= R2,50

 Doughnuts were bought from the FLM store

• Learners needed to remember 

the formula: ‘Total cost = 

Variable cost + Fixed cost’ 

• Learners could easily have not 

thought to calculate the number 

of doughnuts

• The reverse equation 

calculation could have proved 

challenging

• Many learners would have 

forgotten to answer which store 

the doughnuts were bought at

http://www.pampers.com/en-us/baby/health/article


Adapted from www.eatout.co.za

4.2.4   If the selling price increased, write down, with a reason, 
whether the break-even  point would now be lower or 
higher. (3)

Break-even point would be lower if the selling price 

increased.

• Income straight line would have a steeper slope, 

so it would intersect the expenses straight line 

graph sooner – before 20 packets

• If the selling price increases, then the income 

climbs faster. 

The break-even point is reached quicker, as 

fewer packets of doughnuts need to be sold

• Learners needed to draw on 

knowledge, apply and 

reason in order to

determine the changes to 

the graphs and the 

implications for the break-

even point

http://www.pampers.com/en-us/baby/health/article


Q 4.1

4.1.3 A one-way trip to the P&P store is R15 per person.  

Calculate how much Mrs Swartz would be saving if she 

bought all the items listed in the table directly from the 

store rather than shopping online. (4)

• Since Mrs Swartz and her daughter were mentioned, 

learners may have calculated the cost to the store for 

2 people

• Additionally, the ‘per person’ was irrelevant and 

confusing for the learners



5.1.2   France operated 4 290 average daily flights in 2019.

Determine missing value A, rounded to the nearest 
whole number. (4)

% change A =
Flights in 2022 − Flights in 2019

Flights in 2019
x 100 %

=
3 763 − 4 290

4 290
x 100 %

=
− 527

4 290
x 100%

= − 12,284…%

∴ A ≈ − 12%

• Learners would need to remember the % change formula

• The negative % change would have confused many learners



5.1.3   Calculate the range for the % change from 2019 for the aircraft 
operators. (3)

Rate % change for 2019 aircraft operators = 13% - (- 35%)

= 13% + 35%

= 48%

• Learners needed to have a good understanding of 

positive and negative numbers to correctly calculate the range

• Subtracting negative numbers would have been a problem for 

many



5.1.4   Calculate missing value B, if the mean number of flights for 
aircraft operators for 2022 is 1 028,2. (4)

Mean =
Sum of all values

No. of values in data set

1 028,2 = 
2 566 + 1 347 + 1 249 + 1 067 + 952 + 709 + 667 + B + 547 + 536

10

10 282  = 9 640 + B

 B = 10 282 – 9 640

= 642

• Learners needed to remember the mean formula

• Reverse calculation to find B would have been a challenge



Q 5.2

• The context of ‘Mandatory Palestine’ and ‘New Israel’ was perhaps 

insensitive and upsetting to learners.  Perhaps learners may even 

leave this question out due to moral beliefs? 





1.2.2   Name the street that goes over Klip River. (2)

Iffley Street

Winchester Street appears to curve into 
Iffley Street?

• It was not clear that the words represented 

streets – some thought it represented areas

• Strip chart was not clear nor large enough

• Iffley could be interpreted as the name of the bridge or 

the name of the street that crosses the bridge

• Learners are familiar with vertical strip charts been 

given, not horizontal ones – which may have thrown 

some learners



b

1.3.2   Use the steps to assemble a chair to identify the following:

(b)  The number of screws used in step 4 (2)

4 screws (H)

• Assembly diagram was unclear and needed to be 

enlarged 

• The 4th screw in the centre of the chair cannot be easily seen

• Some also thought that an additional 2 screws would be 

required to add on the chair arms, which are slightly visible 

in Step 4

• Last year was the assembly diagram of a garden chair and 

this year it is a work chair – perhaps we need more 

variability 



Q 1.1

• Translation discrepancy between the English and 

Afrikaans paper

1.1.2  Use TABLE 1 above to write down the letter of the 

explanation or definition (A to G) of EACH of the following 

concepts:  Surface area (2)



Half of the length of refreshment table 

= 290 cm  2

= 145 cm

Option 1

Bottle placed orientation on the table

24,2 cm

3
6

,4
 c

m

TABLE

BOTTLES

length of table (145 cm)

i.e. 24,2 x 5 = 121 cm

145 cm

24,2 cm
= 5,99 = 5 packs

breadth of table (49 cm)

i.e. 36,4 x 1 = 36,4 cm

49 cm

36,4 cm
= 1,34 = 1 pack

 Total no. of packs = 1 x 5 = 5

145 cm (½ of table)

4
9

 cm

2.2   Calculate the maximum number of packed bottled water that can  
fit on this half of the table.  (8)



Option 2

Bottle placed orientation on the table

TABLE

36,4 cm

2
4

,2
 c

m

145 cm (½ of table)

4
9

 cm

BOTTLES

length of table (145 cm)

i.e. 36,4 x 3 = 109,2 cm

145 cm

36,4 cm
= 3,98 = 3 packs

breadth of table (49 cm)

i.e. 24,2 x 2 = 48,4 cm

49 cm

24,2 cm
= 2,02 = 2 packs

 Total no. of packs = 3 x 2 = 6

 Maximum no. of packed bottled water = 6

• Learners would need to check both orientations of packages – they might not even 

realize that there might be a difference in their answers with different orientations

• Learners may have calculated the number of bottles of water – instead of the 

packages of water – and wasted a lot of time

• The wording of the question was misleading – it should have perhaps clarified by 

asking which orientation would have provided a maximum number of bottles and 

justify by means of calculations



• It was not clear that this map would have been given to 

conference attendees who would come from different 

directions to the hotels

• Not sure learners would have had the wordly experience 

to formulate a reason

2.3.5  Give ONE reason why some streets are numbered 

from 1 to 7. (2)

Q 2.3



Cement : River Sand

1 bag : 2 wheelbarrows

50 kg : 204 kg (= 2 x 102 kg)

For 0,75 m3 of concrete, we need 5,5 bags of cement:

= 50 kg x 5,5 bags

= 275 kg

Concrete : Cement

0,75 m3 : 275 kg

1 m3 : ?

 Cement needed = 275 kg x
4
3

= 366,67 kg

Cement : River Sand

50 kg : 204 kg

366,67 kg :  ?

 River Sand needed = 204 kg x 7,33 = 1 496 kg

3.2.3   The concrete is made from a mixture of cement, river sand and 
stone in the ratio illustrated below. 

0,75 m3 of concrete requires 5,5 bags of cement. 
One level wheelbarrow full of river sand weighs 102 kg.

Calculate the mass of river sand needed to make 1 m3

of concrete. (6)
OR



3.2.3   The concrete is made from a mixture of cement, river sand and 
stone in the ratio illustrated below. 

0,75 m3 of concrete requires 5,5 bags of cement. 
One level wheelbarrow full of river sand weighs 102 kg.

Calculate the mass of river sand needed to make 1 m3

of concrete. (6)

Cement : River Sand

1 bag : 2 wheelbarrows

5,5 bags : 11 bags (= 2 x 5,5  bags)

Weight of 11 bags of cement = 11 x 102 kg =  1 122 kg

Concrete : Cement

0,75 m3 : 1 122 kg

1 m3 : ?

 Cement needed = 1 122 kg x
4
3

= 1 496 kg

OR

• Many educators felt that it was unreasonable to ask such a 

complex ratio question 

• A big challenge for many to work with two different ratios and then 

to relate them to each other

• ‘Stone’ was an added element that was unnecessary as it was not 

used



3.3.2   Duncan stated that the total area of all the posts and the post caps to be 
painted was 52 704 cm2, rounded to the nearest whole number. 

Verify, showing ALL calculations, whether his statement is VALID.            (8)

Area of 1 square-base post cap to be painted

= 4 x (15,24 cm x 2,5 cm)

= 4 x 38,1 cm2

= 152,4 cm2

Area of 12 post cap bases = 12 x 152,4 cm2 = 1 828,8 cm2

Area of 4 triangular faces to be painted

= 4 x (½ x 15,24 cm x 7,86 cm)

= 4 x 59,8932 cm2

= 239,57 cm2

Area of 12 triangular faces = 12 x 239,57 cm2 = 2 874,84 cm2

Total area of all sides to be painted

= 48 000 cm2 (Ans. Q 3.3.1) + 1 828,8 cm2 + 2 874,84 cm2

= 52 703,64 cm2

 52 704 cm2

 Duncan’s claim is VALID
Area of 12 posts (Q 3.3.1)

= 12 x [2 x (12,5 cm x 160 cm)]

= 12 x [2 x 2 000 cm2]

= 12 x 4 000 cm2 

= 48 000 cm2

• Many learners would have lost track with this multi-step question 



3.3.3   The spread of the pain is 12,46 litre/m2.

Calculate how many litres of paint is needed to paint 
52 704 cm2.             (3)

52 704 cm2 = 52 704 cm2  (100)2

= 5,2704 m2

 No. of litres of paint = 12,46 ℓ/m2 x 5,2704 m2

= 65,67 ℓ

 66 ℓ

• Many learners would not have remembered to square the 

conversion factor when converting between cm2 and m2



Q 3.1

Q 3.2

• Translation discrepancy between the English and Afrikaans paper

3.1.1  A female carp can lay 2,7 million eggs.  Write 2,7 million in full, using 

numerals only.    (2)

• The terminology of using ‘posts’ vs ‘poles’ may have confused 2nd language users

• The fact that learners had to remember the ’12 posts’ from Question 3.2 to 

Question 3.3 could have been disadvantageous – as each sub-question should be 

a stand-alone question

Q 3.3

• Learners would have struggled to interpret the diagrams, especially the 

square-base post cap 

• Learners had to take information from Question 3.2 (i.e. ’12 posts’) and 

remember to multiply their answers by 12

• Question should have been scaffolded and broken down into multiple steps



4.2.5   Bonolo stated that the probability of randomly selecting a 
girl wearing a dress with body size smaller than XXL 
is 0,833.

Verify, with calculations, whether her statement 
is VALID. (4)

P (smaller than XXL) = P (NOT XXL)

= 
60
66

= 0,9091

 Statement is INVALID.

P (smaller than XXL) = 
5
6

= 0,833

 Statement is VALID.

OR

• Learners needed to apply another ‘NOT’ scenario to probability 

• The equal number of girls was confusing – and not clear how to use it

• Many educators answered with Option 1 – until the logic of the equal number of girls was 

explained – and then Option 2 was understood and accepted

• Unnecessarily difficult probability question



Q 4.2

• The body type chart would have been unfamiliar and 

to then couple it with the dress size chart towards 

the end of the paper – would have been a challenge 

for many



Time =
Distance

Speed

= 
3 350 nautical miles

10,68 nautical miles/h

= 313,670412 hours

 No. of days = 313,670412 hours  24 h

= 13,0696005 days

 No. of hours = 0,0696005 days x 24 h

= 1,670411985 hours

 No. of minutes = 0,670411985 x 60 min

= 40,22 minutes

 Total travel time = 13 days, 1 hour, 40 minutes

Left Honolulu on 24 September + 13 days = 7 October

Left at 16:00 + 1 hour 40 minutes = 17:40

Arrival date and time: 7 October at 17:40

Speed = 
2 607 nautical miles
10 days x 24h + 4 h

= 
2 607 nautical miles

244 h

= 10,68 nautical miles per hour

5.3.3   Cargo needs to be shipped to Los Angeles to Honolulu and then 
from Honolulu to Tokyo.

Phenyo searched the internet to determine how long it would take 
the cargo to reach its destination. Shown below are the search 
results. Some information has been omitted. 

(b) Hence, determine the date and time of arrival in Tokyo if the ship 
leaves Honolulu on 24 September at 16:00 and sails at the same 
average speed. (6)

Ans. Q 5.3.3(a)

• Multi-step time conversions would have been challenging

• Many learners would have added in the ’10 days 4 hours’ if they had not read 

carefully

• There are variations in answers in the final arrival time – of up to 5 minutes –

depending on the rounding off that is used when calculating the time



Q 5.3

• Learners struggle with conversions and elapsed 

time – so to put it at the end of the paper – could 

have resulted in many learners leaving out this 

question 



• There were too many tables, graphics or annexures per question (sometimes 3 per question) for 

learners to work through, which resulted in an ‘over-burdening’ amount of information. Learners 

would have taken a lot of time to understand, interpret and extract information before they have even 

begun to answer the questions. This is especially true for our 2nd language learners. This also made 

the question paper too long.

• Growth charts, assembly diagrams and strip charts should be far clearer and enlarged. They should 

be presented as an annexure.

• More scaffolding should be provided for the multi-layered, multi-step questions – to enable all 

learners to at least make a start with the question and progress from there onwards.

• The longer, more multi-layered and complex questions should not be given towards the end of the 

paper. Learners ‘zone-out’ and battle to concentrate and focus.
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